x+y+ (2x-y)i=1+5i5 W&Eot= F A5 x, yoll thote], x +y

ol #e? (& i=V-1)

x+y=1, 2x—-y=5
L x=2y=-1




2. (x=-3)+(y-2)i=2+5F WE5t= A4 x, yoll tiste] 2x +y 2
2?7 (Hi=+V-1)

@® 10 @ 12 ® 15 @17 ® 20




2] e A2
O -59 AlFZL +Vbiolth

@ 2+3i% ApRELe 9 3

@ -3ie &olgo

22 3 ol
I,
@)1-2i9) Bel Bass 112000k,

® 5 A% a, bol dste]
ol ofof gk,

Ja

A a+bi7t A7 EEH b =0

@ 1-2i9 B BASFE= 1+ 2i0]th.




A YA 22 ~3x+2 = 09 F D& a, p2t
gre?

3 3 1 2
o>  @-3 S CE:

T 20| 47 o &t Bo|EE
a+pB=3, af =20°]|t}.
B e

o B ap ap

?+p _ (e+p)?-208 5
2




oju
N

— | Q,

— 13

Tou

09 & 2= .88

O AP Al 252 —6x+ 3

q_

Sh?

® 6 @ 8 ® 10

@ 4

a

I
NI N |on
Il M
T I
-

af




222 —4x+5=09 F & o, p 514
)

@ 4§ = (o +B)" - Bala+) = 2~ 3x ) x2

—8-15=-7




7. OJAAHA 2 -_3x4+1=09F 2L, T T, 0+

Fotofer.

> E:

> =g 18

a+f=3 af=1
@+ B3 = (a+B) - 3aB(a +p)
=27T-9=18




8 x=3+V3i,y=3-V3i g ¥ +y> 9 & FstH?

@o @10  ®0 @10 6 -2

B

x+y=6, xy=12

P4y = (x+y)? - 3xy(x +y)
—63-3-126
=0




x=1-V3i & o], 2 -2x+1 9 Zt2?

9.

@ -2 ® 0 1 ® 3

-3




10.

a:1+i,ﬁ:1-iw1,§+%9m%?

@ -i ® -1 @0

@ i
B 1-i 14+i (1-)2+(1+i0)?
(07

(04
+,E:1+i+1—i: (1+i)(1-1)

(1-2i4i%) + (1+2i +?)
1-i2




@ 3 ® 6 @9 ® 36

D1




12, xof thgt o]2P A A #2 —6x + 2k — 1 = 0°] A2 T2 F ATS
7Hd off, Ao ko] el fe=?

D k<-2 @ -1<k<0 ® -1<k<4
@k<5 ® 0<k<5

x—6x+2k-1=00] M2 thE = AZE 7hx 2
§=9—2k+1>0 2%k <10 k<5




13, xof thet o124 (k2 - 1)x% - 2(k - 1)x + 1 = 0°] 3|+& 714
o}, k > molth. m9 F= ot}

> &

> ®™eh: 1

B

(k2 -1)x2 -2k -1)x+1=00]
S| 7HA = H

D

= k-1 -k -1)<0
(k> —2k+1)- (kK2 -1) <0
-2k+2<0,k>1

Som=1




14.

SJAPIAA 2 4+ 2x 4 k-3 = 00] AZ ThE F A2 42

ko] ZHgk2?

® -1 @0 @1 @ 2 3)3

Az e 5 A2g Ztosw W] orrt Aok gt




15. oA 2 +ax+b =02 Fol1+2 D] AFabE
Fod

5

4
ki

\VARRVARR 2N 4
0
m ot o
Q
I
S

0
o
S
Il
Sy

B ~

A7t Ago|B =2 3t Lo] 14 2i o] ThE 3 L2 1-2; |t
(FZdB)=1+2)+(1-2)=-a - Q@
(F o9 &) =(1+20)(1-2

@, ©°NA
a=-2, b=50|t},




16. A7t 521591 oA 2 —ax b =09 T 201 21 V5 Y
o, ab ©] 727

@ -3 @0 ® 2
@4 ® 2+23

B ~
FEASFOIEE T2 S 222 - V3
T3 Al BA o o
a=4,b=1
Soab =14

B ‘
¥ 4ax+b=0°x=2+ V3

2+ V3)2-a- 24+ V3)+b=0

A7t frelgolng

V3-(4-a)+ (b-2a+T7)=0

a=4,b=1

Soab =14




17, ol B OlAFR A 52— dx 46 = 09] D& 781 x = axt Vhiol .
a+ b2l %& Topolet

> E

> =g 4

X2 —4x+6=0
2] 42 ol




18.

oY EA 242 —6x+1 =02 F ZZ o, T W, a + aBE T

2o S oAb ALY

@ 2x2-6x+1=0 @ x*-6x+1=0
® x2-7x+3=0 @ 2x>24+6x-1=0
(@)2x2—7x+3:0

S22 —-Tx+3=0




